
 Given the data sheet: 

 
 
Explanation of Amplitude Linearity error: 
 
 

It means that from 0 to 5000g You have 1% of error per each 500g. 
  
So measurement of 1000g has +/-2% of amplitude non-linearity error, 
1500g +/-3% 

2000g +/-4% 

And so on up to 5000g’s. 
  
Accelerometer’s indication non-linearity describes deviation between real acceleration and the 
transducer response to it 
  

 



  
In other words the sensitivity at high accelerations amplitudes may be a bit lower than at low 
acceleration amplitudes. 
 


